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	Count model coefficients (Poisson with log link)

	
	Intercept
	Poly 1
	Poly 2
	Poly 3

	G1
	8.393*
	-0.787*
	0.169
	-0.008

	G2
	8.495*
	0.158
	-0.033
	0.002

	G3
	7.109*
	-0.435
	0.122
	-0.008

	G4
	6.317*
	0.329*
	-0.074
	0.005

	G5
	7.698*
	0.422
	-0.098
	0.005

	G6
	6.512*
	-0.366*
	0.035
	-0.001

	
	
	
	
	

	Zero-inflation model coefficients (binomial with logit link) 

	
	Intercept
	Poly 1
	Poly 2
	Poly 3

	G1
	-28.223*
	8.665*
	-1.011*
	0.039

	G2
	-4.112*
	0.182
	-0.020
	0.001

	G3
	-11.460*
	1.358
	0.069
	-0.013

	G4
	-3.772*
	-0.311
	0.096
	-0.006

	G5
	-4.460*
	0.069
	0.033
	-0.002

	G6
	-1.983*
	0.168
	-0.039
	0.002



